Person Number Variables:
Persons (sons and daughters, etc.) are referenced in the interview by their “person number”.  This is explained in the documentation of NSFH1 and NSFH2.  Persons mentioned for the first time in nsfh3 were given person numbers in the range 61 and higher.  Those mentioned for the first time in nsfh2 were assigned in the range 41 to 55; and those mentioned in nsfh1 are in the range 2-15 if they were coresident with the respondent and 21-34 if they lived apart from the respondent.

After the data collection process was completed, we conducted a detailed review of all person numbers – cross checking name, age, relationship and gender – with previous rounds of data and between spouses.  As a result a fairly large number of person numbers we corrected.  Many of these corrections involved the discovery that  someone who was thought to be a “new” person was in fact mentioned in a previous interview – this may have occurred for a number of reasons including interviewer error and because the person was identified with a different name in nsfh3 (e.g., “Junior” now becomes “Henry”.

In the present version of the data file, the corrected person numbers are stored in a different location from the initial person numbers.  The new (corrected) person numbers are assigned a name with an additional “r” prefix.  For example, re20 is “who needed help with dressing” in the care and assistance sequence.  The variable that has the corrected data for this item is “rre20”.  This should be used in analysis.  The “rr” variables are at the end of the file, and not in the logical sequence of the interview.   This is somewhat inconvenient.   In future versions of the data file, when we have completed the review, we will store the corrected data in the original person number locations, and the rr variables will be omitted. 

Recoded Variables:

There are three sets of “recoded” variables at the end of the file.  These are:
· Conversion of dates to century months

· Combining problem inventory measures for respondents with one, and those with more than one, eligible child

· Combining range incomes reported by respondents with the dollar amount responses. 

There are also coded occupation and industry at the end of the data file.  We can shortly provide details on the coding categories and procedures.  

Century months 

All dates in the file are converted to century months – months from January 1900.  We still call them century months even though we are now in a new century.

Generally each date in the file has a variable with a "y” suffix, a variable with an “m” suffix and a variable with an “f” suffix, where the “y” variable is the year; the “m” is the month; and the “f” variable is the portion of the year when the respondent was unable to specify the month.


For example:


rf62y = year parent started living with respondent


rf62m = month of year that parent started living with R


rf62f  = if dk or refuse month, part of year that parent started living with R
The computed century month variable is designated, using the original variable name, substituting the suffix “c”.  An intermediate variable with the suffix “t” is included on the data file.  It is of no use to analysts unless they want to specify their own values for the missing months that we have allocated to the midpoint.

In our example:



rf62c combines this information to compute century month



rf62t is the computed month of the year that is used in the calculation

We have given a missing value code to cases where the respondent could not specify the year.  Where they specified both month and year we computed the century month using that information. When they were able to give a season or portion of the year we converted the response to the midpoint of the season, etc.  When they were able to give only the year, we used the 6th month – June – as the midpoint.

Following is the spss code to create one of these century month variables.

do if (rf62y gt 0).

compute rf62t = rf62m.

if (rf62f lt 13) rf62t = rf62f.

if (rf62f eq 21) rf62t = 1.

if (rf62f eq 22) rf62t = 4.

if (rf62f eq 23) rf62t = 7.

if (rf62f eq 24) rf62t = 10.

if (rf62f eq 31) rf62t = 3.

if (rf62f eq 32) rf62t = 9.

if (rf62f lt 0) rf62t = 6.

compute rf62c = 12* (rf62y-1900) +rf62t.

end if.

if (rf62y lt 0) rf62c = rf62y.

comment this last statement creates the missing value codes: -1 = don’t know                

            -2 = refused.
We believe that these century month calculations are final for most variables.  There are a small number of cases where a date is known, but remains missing in the current file.   And there are a few cases where there appears to be missing union termination dates when, in fact the union has not terminated.  We are continuing to review these cases and will correct this in the next version of the data file.

Problem Inventories   

Note: the person numbers referenced in this series are the corrected person numbers.  There are not “rr” variables defined in this sequence.

There are two sequences of problem inventory questions in which we ask about “problems” that children and step-children of specified ages have had.  In each of these sequences there was a path for persons with only one child in the age range and a path for persons with two or more such children. Specifically:
The series for children and step children age 5-17:

Questions rk2 through rk42p02 are asked if there is more than one eligible child


Questions rk2b through rk42p01b are asked if there is only one eligible child

The series for sons and daughters and step sons and daughters age 18-33:


Questions rk44 through rk71p03 are asked if there is more than one eligible child


Questions rk87 through rk100 are asked if there is only one eligible child

The new variables combine the two by putting data from the one child cases into the first field of the multiple child persons.  The fields for the second- and third-mentioned child are not affected.
For each of the “problem variables” a new set of combined variables is created.  For example, in the instrument there is a set of variables designated rk49 rk50p01 rk51p01 rk50p02 rk51p02 etc. into which are entered data for the children reported to have had the “problem” for cases with more than one potentially eligible child.

There is an analogous set of variables rk89 and rk90 in which are entered the data for cases with only one potentially eligible child.

We have combined these variables, putting the data for the cases with one eligible child into the field for the first mentioned child in the multiple child cases.  

The new “combined” variable is given the name of the first mentioned child in the multiple variable situation, with the addition of a suffix “c”.

For example:
Combined 
One Elig
>1 Elig

Variable
Child

Child

rk49c

“1”

rk49



rk50p01c
d3a

rk50p01

rk51p01c
rk90

rk51p01

d3a is the person number of the first eligible child.  In the case of respondents with only one eligible child, it is the person number of that child.

An example of the spss code to create this is shown below:

COMPUTE RK49C=RK49.

COMPUTE RK50P01C=RK50P01.

COMPUTE RK51P01C=RK51P01.

do if (RK89 =1).

compute RK49C = 1.

compute RK50P01C = d3a.

compute RK51P01C = RK90.

end if.

The data in these fields and these calculations are basically correct, and can be used to develop analyses.  However, there will be revisions in the person numbers of children in some of these fields.  As we did in connection with NSFH2, we are undertaking a review of all person numbers to be sure that they are correctly entered.  Specifically, if an interviewer was unable to recognize a child that was mentioned by the respondent in the nsfh3 interview as a child who had been mentioned in the previous interview, a new person number was assigned.  In many cases, we have been able by examination of the name, age, gender, and relationship to determine the identity of these “new” children.  This information has not yet been incorporated into the preliminary data.
Income Measures  

Respondents who did not know the dollar amount of income and those who refused to report income were asked a series of questions to put the missing income into ranges.  We have computed a dollar income that includes the range values by assigning a midpoint value.  We will provide the code that created these values to analysts who wish to compute income using alternative range values.  
An example of this code follows:

compute rq7p02t= rq7p02.

if (rq7p02 lt 0 and rq7p02d = 1) rq7p02t=10000.

if (rq7p02 lt 0 and rq7p02e = 1) rq7p02t=5000.

if (rq7p02 lt 0 and rq7p02f = 1) rq7p02t=2500.

if (rq7p02 lt 0 and rq7p02g = 1) rq7p02t=500.

if (rq7p02 lt 0 and rq7p02h = 1) rq7p02t=35000.

if (rq7p02 lt 0 and rq7p02i = 1) rq7p02t=45000.

if (rq7p02 lt 0 and rq7p02j = 1) rq7p02t=62500.

if (rq7p02 lt 0 and rq7p02k = 1) rq7p02t=100000.

We believe that these values are final, but we have not yet completed a review of the code used in their calculation.  It is possible that we may find errors in this code.  There remain some unrecorded alpha codes in some of the income variables – specifically, who is the recipient of the income.  In order to complete these calculations, the alphas were converted to blanks in the preliminary version of the data.  These alphas (now blanks) will be converted to numeric values in the next version of the data file.  The most frequent situation where this applies is when an income source was received jointly by more than one person – most commonly by husband and wife.
